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WEST BENGAL STATE UNIVERSITY
B.A./B.Sc. Honours 3rd Semester Examination, 2019

Time Allotted: 2 Hours Full Marks: 50

The figures in the margin indicate full marks.
Candidates should answer in their own words

e AT F47Z F G Y FHet Fed i
ARG (VTR ST L TG FFFAE e
&GF FRE!

All symbols are of usual significance.

and adhere to the word limit as practicable.

1. Answer any five questions from the following: 2x5=10

ffefe -t A5G AT Tag wies

(&) A risk-averse person is offered a choice between a gamble paying Rs 1,000 with
probability 0.25 and Rs 100 with a probability of 0.75 or a certain payment of
Rs 325. Which would he choose?

w3 IR few 4t Ren oeal 2001 2Eitee fiH 0.25 FWRER 1,000 Bl @R
0.75 FRIIAT 100 BIF *iE | wfoce {6 325 Bt Atvw iigw 1 @w [Resh oF
A% FACI 2

(¥) What is natural monopoly?
FORE GFEHN FIFIR FICF I 9

(¢ What do you mean by perfect price discrimination?
o)l WIS FoRIHAd IS R @I 2

(d) Show that under price discrimination, monopoly price is lower in the market with
more elastic demand.

e @ Rrewes IR FRIAEE CFg @ AR vitvR Ffemsme @, &1
T TR W T 3|

) What are the price characteristics of monopolistic competition?
G eforforgERe el ey (IR el
(f) What is monopsony?
R FICE QT 9
(g) What is bundling?
‘Bundling’ J51C & QI3 9

(Jy Show that the degree of monopoly power is inversely related to the price
elasticity of demand.

@A (T GFGHH TR W 7 sifzng v Ffezirmer Sog Feais)
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2. Answer any four questions from the following: 5x4 =20

famfaiis @@ si1af6 &g Teg wiss

(a) How do you identify a person as risk-averse, risk-neutral or risk lover?

@ e et -, IRe-faers 2 IR seved s hiee saram e
(b) Derive the short run supply curve of a perfectly competitive firm.

s§¢ffs AfSTRITOR ISR FIGR THFEN e fef s
(¢) What is dead weight loss under monopoly?

93 FARE Jo-Of o IS I ¢

(¢ What is excess capacity of a firm under monopolistic competition? How can
excess production capacity be decomposed into two parts?

GFHHA 2ASRMSIETS AR FICE Tge F3o! 00 [ @I ¢ 12 T8 FIOT
FeIa 1ib ©its! ol 31 T 9
(#) How can risk be reduced through diversification?

afoaraared vl I [Foi 25 o IR 9

- ) Show that a monopolist will produce a smaller output and sell it at a higher price
than the equivalent competitive industry.

418 (7 GFe GFEHA TN, Tgey efsrmiieore Rirsr gemi 3 A g9
T A 9k ©f @ wicy [ 3903

3. Answer any two questions from the following: 10x2 =20
fasfEfie @~ 715 deaa Ted mies
() Using the ‘weak-axiom of Revealed prefe}eﬁce théory show that substitution
effect of price change is always negative.
(IHHTS Iwered 14e Fosimd (weak-axiom) SR @€ @ RS T
(@ #IfeTE 2SI WG O AT |
(b) Explain the short-run equilibrium in a monopolistic competitive market.

GZHHA AfSTAROTERe IS Tl T Sy fAdiad sl
(¢) Consider a Cobb-Douglas utility function u(g,,4,) =¢{ ¢4 and the budget line of 5+5

the consumer isM =p,q, + p,q,. Derive the demand function for ¢,and hence

show that the Cobb-Douglas consumer always spends a fixed fraction of his
income on each good.

RAF 9T FI-THAST S SAFT & u(q,,q,) = ¢} ¢7 4R ACHG @A 2=
M =pg, + p,q,. q, G SRR oS 6 @1 @R @Ae @ FI-BIEH (ST
{1 O SR @@t e st 2fsfb weara T v 3
(&) (i) Does a unique supply curve exist under monopoly? Explain your answer. 5+5
@esout SR @ e @iNm @ e & ¢ Taraa FeieE i e |

(ii)  Show the short-run equilibrium of a multiplant monopolist.

@I ‘9lfed Teoiwe B8HE’ (multiplant) [ N PRI RSN
iy fRdad s@i
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WEST BENGAL STATE UNIVERSITY
B.A./B.Sc. Honours 3rd Semester Examination, 2019

ECOACORO06T-ECcONOMICS (CC6)

Time Allotted: 2 Hours Full Marks: 50
The figures in the margin indicate full marks. &Nfe T FGE Y5 I 07 771
Candidates should answer in their own words ARG RS SR TR FTET R N
and adhere to the word limit as practicable. e FRE)

All symbols are of usual significance.

I. Answer any five questions from the following: 2x5=10

fefEie @-FI «f5h 2z Ted niss

(a) What is meant by Balance of Payments of a nation?
(FICA! (AT FTHIARPR IS SR 570 5 @I 9

(b)Y Show that, in a small open economy, total saving is the sum of domestic and
foreign investment.

@48 @, 93 Fu T& wLNfSre (b ey v 8 @ertis R i)

(c¢) Why Keynes preferred fiscal policy over monetary policy to cure the problem of
demand deficiency?

SifEnid Too! TPYR AN (@29 (@FF AT A SIS WEFR Aeq o@
HAPFIFS (@ @FG QR FE 9
(&) Distinguish nominal and real exchange rates.

enfd s 29 ¢ e RJifm g =1k & o
(¢) State and explain Walras’s Law.

‘Walras’-«3 Riaf @t @k aprap saan
(f) What is ‘Seigniorage’?

‘Seigniorage’ & ?

() What are the causes of money wage rigidity?
e TgRT TS T F 2

) What is sacrifice ratio?
SR AT FICF A 9

2. Answer any four questions from the following: 5x4 =20

fsferfRe @-EIE s1af6 2T Teg wies

(&) How Phillips Curve can be derived from the Aggregate Supply Curve of the
economy?

e @ @4 (A eI e @t e s am o
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(» Explain Keynesian concept of Underemployment Equilibrium.

@ sl e e grenfS e s @

(¢) Explain the idea of Purchasing Power Parity.
TSI A AR’ I e
(d) Suppose a country devalues its currency by 12% and at the same time domestic

prices rose by 10%. What real devaluation has been achieved? What if prices
have risen by 15%?

€ IF, @A GF0 @ e FHIfas 29 v0% 4R G’ A (il ©iF Ju=
53 % SRR WHICeTl | FO6! I8 SN 00 To(A 9 TEiad /9 ;M 3¢%

wrgge AfiFES & nieia ¢

(e) Explain the Natural Rate Theory.
el 2 ©gh I 1 e,

. o : .ﬁ VIDY

/(/f) How is interest rate determined in the classical model? /.y S,

FIPRIE e 0@ 27 e fdfie = 9 {g‘;’ \\}
% '
3. Answer any twe questions from the following: \\Q\V &) o 10x2 =20

frafaRe @-ct 7/5 eew Tea we: =

(a) How full employment could be achieved in Keynesian model through a
mechanism known as Keynes Effect? Under what circumstances this effect will
not work?

(PP WO (39 GOR’ - T ol sjfferas w2z sieqt @rs <l I I@i
& AfaFEfers W2 der sriF T ?

Using Mundell Fleming Model explain how internal and external balance can be
achieved. '

Mundell Fleming TS SR I [FOHT Weredid ¢ AT S SRy (e
RO I FAT

(c) Distinguish between Adaptive and Rational expectations. Define Phillips Curve
and show that Short run Phillips Curve is downward sloping, while the long run
Phillips Curve is vertical.
wferfers eeps ¢ Jfeam dorxia 214 & ¢ olom @dm @ we ¢ @ate (@,
TP foia @il Aol Aforeig et Rdere of Tug WS 4ivd T

(&) What is ‘Say’s Law’ of market? What are its implications in a barter economy? 2+4+4
Does the Law hold in a money using economy?

‘O7 -« 74t & 2 @3 ¥y R 2ige SdAfers @3 aeR F 2 @3 o e
Ao & «2 @l s ¢
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N \‘%Q;'f
AN k A/

N x2”  ECOACORO07T-EcoNomics (CC7)
Time Allotted: 2 Hours Full Marks: 50
The figures in the margin indicate full marks. I FaF FZ F AT ofef N JA77% B 1
Candidates should answer in their own words SFRISNR) e G I TET HIE Nl
and adhere to the word limit as practicable. TeF 1

All symbols are of usual significance.
l. Answer any five questions from the following: 2x5=10
sl Q- 6l @ree Ted nes

) Show that the set S = {(x, y)’x2 + y2 <4} is a convex set.
@S @, OB S = {(x,y)]x2 + 32 <4} 9% FACTH G5 |

(b) Determine the nature of return to scale for the production function ¢=10?X .
o S g =102 K Teowe ARRSER 2 (Return to scale) & 21 (eaie)

(¢} State the “complementary slackness” theory of Linear Programming Problem.
et (AR liafiR -« “FHRCEDIRA AR - 1% o f[ige Fal

(d) Why is “global optima” also “local optima”?
‘ol SieAfou” SRR e S8 J (B 9

(¢7 What do you mean by two person zero Sum Game?
T2 (ARG I& X7l (ot (o7 JET0S 6 @I 2

(£ Check whether the following input-output system satisfy the Hawkins-Simon

condition.

frTeTIe 3Ho{5-a+5 TCoe 2@ 34 (@ ZRF-sM2aw T 7 R &
0-4 03 02
0-4 02 03
0-2 0-4 0-3]

(&7 Explain the nature of the time path y, =3" +1.
A Yy, =3 +1-{69 &iFle gt FeEt

(hv What do you mean by Nash-Equilibrium in the context of game theory?
(oS O I S 909 T @i 2
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2. Answer any four questions from the following:

oo @-coie 51715 eiveia Taa wies
() Given the demand and supply functions in a competitive market as,
q? =1200-6p, and g =2p,,. Find out the equilibrium price and quantity.
Explain the stability of the market.
a3 f5 2 STRIMereRs AT SifEn 8 QN TTad@f 21 IWEm@s g =1200-6p,
GR gf =2 p,.; | S AN @ ~Afel fefy a1 iR Sy et Ko wat
(6) £1) Why is the knowledge of dual important in Linear Programming analysis?
23l @R SCEHAE (7S (dual) €@ @ awgey o
(i) Find out the dual of the following Problem.
g ST 17 (dual) e Tl
Max z=>5x;+6x,
Subjectto  2x; +3x, <5

3x1 +4x2 <12

x1—2x2 >6
leO, Xs >0

«) Consider a two person zero-sum game where 4 & B are the two player and 4’s
pay-off matrix is

B, B,
A4 1
4,0 2 3
Determine the optimal mixed strategies for each player and the value of the game.

a3l 13Afe RfFE 35-@eiea Gita 4 @R B 435 RTERIG R 4-99 (A-9F
TG 251
By B,

4,74 1
a2 )
2T AT - 8 Coft= 3o el et

(4 Using Kuhn-Tucker conditions solve the following maximisation problem:

~Max: U=xy
Subjectto -+ <100
| x <40
x,y=20
Kuhn-Tucker WWWWW@@ IR ST Sl
Max: ’- U=xy

Subject to x+y<100

A~

5x4 =20

243

2+3

3+2
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Consider the following 2 x 2 inter-industry input coefficient matrix for Lientief
0-4 01
0-7 0-6
are (5, 2). Determine the equilibrium prices of the two commodities if the wage
rate is Rs. 10 per unit of labour.

95 FEfoRe Y& Feabae werr oy fafrie 12 crg [iFE st Soime =
Tt Reasal S0 [0'4 O'qaww,ﬂmmﬁqﬁmﬂ(s, 2)1 ¥ e

Static Open model: [ ] . Suppose that the direct labour input coefficients

0-7 0-6
9% 2R TGA 10 B 2 O 3 46a SRy i ey wean
What does Envelope Theorem indicate about the interpretation of the Lagrange

multipliers used in solving a utility maximising problem subject to Budget
constraint?

JCED AATE SIS HifETared It ANLIER R (@ FAle 80 T [
%7914 Envelope © ©F & wlesd fao« 7 7

Answer any two questions from the following:
e Q- 725 @t Ted wes

Write a short note on consumption possibility Locus in the Leontief Static Open
Model.

TerexlbrEEd 4 1o O (S TSR @RI $97 @36 T Bl Tea

Suppose the demand and supply functions for a particular commodity are as

follows:

g =a-bp(a,b>0) and ¢* =—c+dp(c,d >0). Find the Time Path of price and
interpret the different components of the expression you have derived.

S B I GI5A SifEwl @ (st weersaes Eae

¢ =a—bp(a,b>0) O g° =—c+dp(c,d >0) | AR A5 e T @ cora
fAifzs expression-fba fifen weeiw slea fefa s

Using Linear Programming (LP) technique solve the following game (Zero Sum):
Bl B 2 )::QT;~_
A2 7 5>
4, 6 3
Tiewa 2= e (orsfod (ARG AEHSCS AN S
B, B,
A4 T2 7
4,1 6 3

10x2 =20

10

5+5

10
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(d) (i) Prove that Minimax < Maximin. 4+6

(ii) Consider the pay off matrix (4 & B two players):
B, B,

A1 5
A4, 6 4
Find the optimal strategies of the two players as well as the value of the game.

(i)&W =7 @ ffsrs < mfate,
(ii) TR cot-sre Wit Koo w61 (4 @k B 76 (=mame):
Bl Bz

41 5
4, 6 4

T (AT I (S fiefiet St @ 1B oy et e




